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Kik®m ®H O N MEELE W 3o
MR AR RS LMy LB ki ( 0068-561 )
[rERIE] L A 4 ]
X A B 5/ 9 5/26 | 6/26 7253 8/20 9/19
4 MEHH FRETER 13:15 13:30 13:56 13:30 13:35 13:38
x | - K % i g % ] L
k£ E| C 21.1 16.0 24.8 2.1 25.0 22.7
— % - 10.0 1.0 20.5 19.6 19.0 18.6
% Bl - 061 061 22 061 061 231
o x ) - 011 011 011 011 01t 011
Wk B | w/S
IH | RETRE - w0 # LS Wi Wl - TR
MERE | ow >30 >30
H| ¥ Uk m
2 kB m
B % R m 2.0 2.1 1.5 1.0
NFE X blag/f <0).. 005 <0005 <0.005)
Wy 7 Y mesR N.D. N.D. N.D.
H W M w/
& ng/ R <0.05 <0.05 <0.05
JOL(6H) [me/Q <0.02 <0.02 <0.02
i 2 we/ 0 <0.02 <002 <0.02
20K Ea/L <,0005 <.000 <. 0005
B(7 858k $Eme/l
P C B{mp S
P H - 7.4 7.4 7.4 7.0 7.1 7.2
4 D 0| mg/ 2 10.4 9.4 8.7 8.1 8.1 8.6
i B D| mg/ 2 0.5 <0.5 0.4 0.5 0.9 <0.5
BC O Dlml 2:3 1.9 1.5 1.9 2.1 2.1
s S| me/ R 1 1 1 1 4 5
A B W OB ] MPN/100n0 1.7E01 8.0E01 7.0E01 9. 2802 3.5E03 3.3E0
Bln-Hex mg/ £
2L T Ee/d 0.34 0.3t 0.2 0.17 0.29 0.29
£ ] me/ 0 0.00§ 0.008 0.004 0.005 0.012 0.014
ih M e/ R
TJx /- |me/ R
- ng/ © <0.01 0.0t <0.01
i $ me/ 0 0.01 <0.0% <0.01
S(BME ) m/ P
WA (ERRNEN mg/ © <0.05 <0.04 <0.09
oo hag/f <0.01 <0.0i <0.01
7 W ¥ mg/ R
TS M R X e/ 0 0.00% <0.001 0.005 0.003 <0.001 <0.001
16| FEENRRME W W mg/ 0 <0.001 0.002 0.001 0.001 <(.00} <0001
LR 0.210) 0.201 0.157 0.124 0.137 0.118§
L 0,003 <0.003 <0.003 <0.00 <0.003 <0.003
A B  S|w/2 <0.02 <0.0% <002
¥ % pO/em 49.0 46.5 6.7 40.0 38.0) 49.9)
& e/ 0 <5 <5 <5 < < <5
XA A /R 1.5 1.1 <1 <1 <| <1
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A H A AR AEDNET S R =

ks O Ol MEELm L B WM
AR —ED) oMY L E Kk # ( 006-51 > |
(xaRi] L A 4 ]
4 H A 10/30 11/20 12/10 1721 2/25 3/19
S WMEEE e 13:20 13:25 13:40 13:05 11:55 12:00
o k| - 5 M L] L] wey 3
x m| C 12.5 1.4 6.9 3.5 0.1 7.9
— 3k B C 10.2 7.4 5.9 2.5 2.9 3.1
7 ®l - 061 062 062 231 081 082
1 = ol - 011 011 011 011 011 011
W & |m/S
m o EmuE - il W Wk LT Wl Wt
n % | E om
8| i REKE m
2 K ¥ m
B % 8F m 2.6 3.0 3.8 pa--
B K I Alme/P <0.005 <0.005 <0.005 <0.005 <0.005
Wy 7 U mel N.D. N.D. N.D. N.D. N.D.
F O® e _
e % me/ £ <0.05 <0.05 <0.05 <0.05 <0.05
2OL(BH) |me/ R <0.02 <0.02 <0.02 <0.02 <0.02
H # P e/ R <0.02 <0.02 <0.02 <0.02 <0.02
T L2, <,0005 <. 0005 <.0005 <,0005 <, 0005
Bl7 848Kk e
P C Bim/f
P Hf - 7.3 X: 7.3 7.4 7.3 7.3
# D 0| me/ 2 9.9 9.6 - 8.5 11.6 11.4 11.4
#B O Djm/R <0.5 <0.5 0.5 0.4 0.8 0.5
BMC O Dimgp 1.2 1.9 1.9 1.9 1.4 1.0
# S S| mg/ 2 <| <1 1 g 3 <1
KR B B ¥ MPN/100a0 4.6E02 t.1E02 2.3E01 7.9E01 3.3E01 0.8E01
H n—Hex mg/
£ 8/ We/Q 0.11 0.10 0.20 0.59 0.27 0.19
& # mg/ R 0.007 0.008 0.007 0.013 0.004 0.008
i 5 mg/ £
Tz /—NE | mg/R
§A we/ R <0.01 <0.01 <0.01
¥ $4{ mg/ 2 <0.01 <0.01 <0.01
SO B Yo/
WY (R we/ 0 <0.05 <0.05 <0.03
o B| beg/P <0.0f <0.01 <0.01
7 w X mg/ 0
TUECT B 2 me/ 0.002 0.002 0.031 0.044 0.004 0.002
TE R = X me/ 0 0.001 0.001 0.001 0.001 0.002 0.001
BB el 0.087 0.073 0.089 0.500 0.141 0.144
OB O e <0..00: 0.003 0.004 0.00 <0.003 0.003
BA B S|ms/2 - 0.0 <0.0% <0.02
x ® H=uU0/m 48.0 54.5 53.9 60.0 £0.0 65.4
& B mg/ R <5 <§ <5 <5 <5 <q
BXEA A /P 1.2 1.5 1.5 1.8 1.9 1.9
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4 B kK% kB AT HRE

ki%m WM ELE it 1 I TUR VR
MR —ET) MY & 6 K # 008-51 ) i
[XARYE] I AA 4 1
&® H B8 5/14 5/28 6/25 7/18 8/27 9/11
5 WIETHE e | 10037 10:58 10:45 11:00 10:30 10:50
x w| - -3 [ = L 7 1
k) wml C 13.5 19.5 20.0 31.0 29.5 27.0
i #BlC 16.0 18.0 20.4 22.0) 24.3 20.5 |
5t w|l - 082 181 181 180 180 180 |
Y =l - 011 011 011 011 011 011 |
i A’ | S |
H | - > i W R Wi WD l
MEBRE | em >30) >30) | - |
Bl R ZB0KE | m i
£KE | m : |
EHE | m 4.7 4.9 4.% 3.3
BEF ST Limgs P <0.003 <0.004 <0.005
¥y 7 Ym/ R N.D. N.D. N.D. |
H % ng/ @ |
i & mg/ <0.05 <0.05 <0.05
2OL(BHE) |mg/Q <0.02 <0.02 <0.02 |-
i; [ T mg/ 0 <0.02 <0.02 <0.02
B Kk fBee/p <.0005 <.0005 <.0005 |
BI7 0% Kok 88 me/ @ [
P c B|ng/ ¥ =3
P H - 1.7 7.7 7.9 8.9 7.9 7.9
#H D O| mg/ © 9.2 9.2 8.5 8.2 7.6 8.3
WB .0 Dlm/P 0.7 <0.5 <0.5 1.7 0.8 t.0
BWC 0 Dlmp 2.4 2.7 3.0 2.5 2.4 2.7
s Sl me/ 2 < <1 <1 <1 <1 <1
AW BE ¥ HPN/100m 0.0E01 3.3E01 2.0E01 3.4E01 8.0E01 4.9501 l
B n-Hex mg/ 0 |
£ B Fw/p 0.45 0.9 - 0.32 - 0.45 |
£ B mg/ 0.008 0.008 -- 0.008 -- 0.007 |
ih 5H me/ R |
Tz /)—=NE (mg/ D I
§f mg/ £ <0.01 <0.01 <0.01 |
8 B 8 me/ <0.01 <0.01 <0.01 |
G(B 8L )m .
WHY (BRI ng/ 0 <0.05 <0.05 <0.08
Wy O Alee/f <0.01 <0.01 <0.01
70y T e/l
TUEIT B2 T mg/ R 0.027 0.020) - 0.009 -- 0.014
TH TR S T we/ D 0.002 0.002 -- 0.001 -- 0.001
0Bt W mg/Q 0.326 0.372 - 0.193 -- 0.274
LR ) <0.003 <0. 003 - <0.003 - <0.003
g A B Simg/ @ <0.02 <0.02 <0.03
® ® # ullem | 770 75.4 78.6 81.0 57.8 57.8
& B mgs 0 < <5 < <5 <5 <g J
WAL Ane/D 2.9 2.7 <l 1.9 <1 <1 {




B A KB KRN ER RS

KiEgd O’ [ WEELNN W R
RBAE—-ES) F NS L F K2 (  008-51 ) |
(XAZYAR) [ AAM A ]
B B B |07 11/28 1217 1716 | 2/20 3/18
5 METER fRERER | 10140 11:00 10:40 10:40 |- 10340 10:30
x m| - 5 % L k% .3 i
w8l T 15.0 8. 3.5 5.5 5.5 3.0
— % ] T 12.9 8.0 2.0 1.3 4.0 5.0
7 8] - 060 082 082 083 061 061 |
® 5 i - 011 011 011 011 011 011
diw & |m/s -
| ERERfuE -
MEBRE | en
B 4 BkE | m
o ] m
AEHEE | m 2.9 2.9 2.0 2.8 3.0
HE I Leg/R <0.003 <0.00 <0..009
Wy 7 Y me/R N.D. N.D. N.D.
q % M/
i & me/ 0 <0.05 | <0.05 <0.05
20L(GHE) |mg/Q <0.02 <0.02 <0.02
Bt T mg/ D <0.02 <0.02 <0.02 |
B oKk $Bne/l <. 0005 <.0005 <0005 |
Bl7 858k §Bwesp
P C Blmg/ @
P H - 7.4 7.4. .13 7.6 7.4 7.9 |
% D 0| mg/ £ 9.2 . 10, 12.3 11.9 11.3 i1.4 |
#B 0 Dlm/Q 0.9 <0.9 <0.5 <0. <0.9 0.9
#WC 0 Dlmp 2.0 1. t.g 1.8 1.4 1.5
#s- S| me/ 2 2 1 2 1 1 2
T8 A 88 W BE B MPN/100ng 1.7E0) 1.7€01 1.1E01 0.5€01| 0.0E01 0.7E01
B n—Hex ng/ § )
2 F OFm/ 0.58 0.28 0.3% 0.39 0.37 0.49
2 tre/ Q- | 0.010 0.007 0.01% 0.007 0.00§ 0.008
i 53 me/ @
Tz )—N3E |ag/¥
fH ng/ £ <0.01 <0.01 <0.01
w8 83 8 me/ <0.01 <0.01 <0.01
G Bt Y oe/ R ¥
N (FERRMEN me/ R 0.08 0.05 | <0.08 -
7o Hmgl <0.01 <0.01 <0.0t
7y W/l |
PUECT HE R X me/ O 0.078 0.038 0.021 0.014 0.01d <0.001
1E TR S W me/ P 0.001 0.001 0.001 0.002 0.002 0.001
LR 0.343 0.195 0.237 0.236 0.289 -0.201]
WO e/ <0.003 <0.003 <0.003 | <0.003 <0.003 0.003
BA B S|mi <0.0% ‘ 0.03 <0.02
X B B pl/m | 98.0 70.8 60.1 78.0 80.8 72.7
i 1| mg/ £ <5 < <5 <4 <4 <!
¥4 A g/ 3.1 2.3 2.3 | 2.4 3.1 3.9
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